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1. Algdel Z2at= AAL=SA ool H#1 7|2 30| 0| & ALE = EAlE 5 88
HAte= 7= =t AALE=S 7= che|
HEA| 1000]| 5} 0 |cFu/mL||1,2-Cilegr-3-222Z=20| (0.0030]|5} mg/L
St =42 E4ZE|/100mL 1,4-Co| =S4t 0.050]3} mg/L
e e S e =HE 24 (/100mL e R e 4.00| 5} mg/L
=1 0.010]|st =4Z| mg/L SEz[Z2HEl 0.10|3st mg/L
=4 1.50| 35} EAE| mo/L 222xE 0.080|5t mg/L
Bl 0.010]|st =4Z| mg/L BEZRC|I 2220 E 0.030| 3} mg/L
Mg 0.010|s5t | EHE]| mg/L Clegn 2220t 0.10]3} mg/L
o 0.0010l5t |2HE| mg/L 2=z &sto| =0l E 0.030|3} mg/L
Al oF 0.010]|st =dZE| mg/L CIEZZoMEHEE 0.10]s} mg/L
ag 0.050|st |EAZE| mg/L CI2220lMEHEE 0.090| 3} mg/L
ot Lot Rl & 0.50| 5} =dZE| mg/L EZ|Z220MEHEZ 0.0040|5} mg/L
EAME A 100| 5t 1.2 | mg/L &2 ot Elof| Al = 0.10|38t mg/L
=g 0.0050I5t |=2HZE| mo/L ZEUHSI= 0.50|5t mg/L
22 1.00|35} 0.02 | mg/L ax 3000| 5} mg/L
BEEAMH 0.010]|st =4ZE| mg/L DUZIMZE od[ 100]| st mg/L
H= 0.0050|8t |2HE| mg/L A HAMIEele A -
Cto|ofX| = 0.020|5t |=2HE| mg/L o gto| gl A -
Tl2tE 2 0.060|st |[EAE| mg/L T2 10|35t mg/L
HUEZX2 0.040l5t |=2HE| mg/L A 50|35} T
7tehe 0.070lst |EAE| mg/L M| 0.50|3} mg/L
1,1,1-E2|22 20 Et 0.10]| 8} =AE| mg/L TA0I2SE 5.8~8.5 -
B EZISZ 20|23 0.010|st |EAZE| mg/L ofed 30|35t mg/L
Ez|Z22o2a 0.030l5t |=2AHE| mg/L g0l 2500| 5} mg/L
CI2=2 20 & 0.020|st |EAZE| mg/L SRS 5000]| 5} mg/L
iR 0.010|3t [EZAZE| mg/L A 0.30|5t mg/L
E=o 0.70|5t 2A4E| mo/L s 0.050|5t mg/L
ofl & I I 0.30]| 35t =H8ZE| mg/L B 0.50]|s} NTU
I A 0.50| 3} SHE| mg/L EHito| 2 2000| 5t mg/L
1 1-CIEZ2Z20 0.030] st =H8ZE| mg/L b= 0.20]|s} mg/L
AlE BHEFA 0.0020|st |=AE| mg/L ol of i
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1. Algdel Z2at= AAL=SA ool H#1 E7| X% S0l 0| & At = EAIE + 3.
HAte= 7|& =t AALE=S 7|& che|
HEA| 1000]| 5} 0 |cFu/mL||1,2-Cilegr-3-222Z=20| (0.0030]|5} mg/L
St =42 E4ZE|/100mL 1,4-Co| =S4t 0.050]3} mg/L
e e S e =HE S4ZE|/100mL e R e 4.00|5t mg/L
=t 0.010|3t [EZHZE| mg/L EZEZ|s2H Et 0.10|5t mg/L
=4 1.50| 35} 0.22 | mg/L 222xE 0.080|5t mg/L
] 0.010]|5} 0.010| mg/L HBR2RC|Z22 20 & 0.030|5t mg/L
Mg 0.010|s5t | EHE]| mg/L Clegn 2220t 0.10]3} mg/L
F=2 0.0010l5t |2HE| mg/L 222510/ =80l E 0.030|5t mg/L
Al oF 0.010|5t |EHE]| mg/L ClE2ZolMEHER 0.10|5t mg/L
ag 0.050|st |EAZE| mg/L CI2220lMEHEE 0.090|5t mg/L
ot Lot Rl & 0.50| 5} =dZE| mg/L EZ|ZZ2Z2oMELEH 0.0040|5} mg/L
B AR A A 100]| 5} 1.3 mg/L SZotMEAAE 0.10]|5} mg/L
== 0.0050|8t |=2HE| mg/L ZEUHSI= 0.50|5t mg/L
22 1.00|35} 0.03 | mg/L ax 3000| 5} mg/L
2HEMY 0.010lst |E2HE]| mg/L DIUZIHMNZE 4| 100]|5} mg/L
H = 0.0050|8t |2HE| mg/L A HAMIEele A -
Cto|ofX| = 0.020|5t |E2HE]| mg/L BN gto| gl A -
Tl2tE 2 0.060|st |[EAE| mg/L T2 10|35t mg/L
HUEZX2 0.040lst |EHZE| mg/L A 50|35} T
7tetE 0.070lst |EAE| mg/L M| 0.50]| 35} mg/L
1,1,1-E2|22 20 Et 0.10]| 8} =AE| mg/L TA0I2SE 5.8~8.5 -
B EZISZ 20|23 0.010|st |EAZE| mg/L ofed 30| 5} mg/L
EZ|Z22 203 0.030|5t |E2HE]| mg/L g0l 2500| 5} mg/L
CI2=2 20 & 0.020|st |EAZE| mg/L SUNRE 5000]| 5} mg/L
iR 0.010|3t [EZAZE| mg/L = 0.30|5t mg/L
S5 0.70|5t =AE| mo/L bzt 0.050|5t mg/L
of| £ tl I 0.30[5t SHE| mg/L = 0.50|5t NTU
I A 0.50[ 5t SHE| mg/L EHito| 2 2000| 5t mg/L
1,1-CI22 202 0.030|3t |[EZHZE| mg/L U205 0.20|5t mg/L
At SERA 0.0020|8t |E2HE| mg/L J o 4y
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ZAres 72| = HArZ = HAlets 721 & HArZ =
1. M 7 100CFU/mf0| 5} 0 31.0f el HI 0.3 mg/L0|3} EHZ
2. &5 &AL =4 Z/100m =4ZE  |32.343 0.5 mg/f0l3t| E2BHE
3.CH AR sAz/100m| =27z |200ITTTEEENE 100300015t 2=
4 2L EAT =4 Z/100m - 34 AE EHERA 0.002 mg/f0|St] =HZ
5. 0.01 mg/f0| 5} 2HE 35.1,2-clzze-3-2zz=z=z8 ) 003 mg/L0| 5} =4
.22 1.5 mg/L0|3t 2HZ [36.22sl0|=30|E | 0.03 mg/L0I5t 0.0026
7.8 0.01 mg/f0l8t| EZHZ |37.Cl=22zotMELEZ | 0.1 mg/L0l5t EZ2HZ
L E = 0.01 mg/£0|5} EZ4Z |38.CIZ2RotMELEZ | 0.09 mg/L0I5F  0.0020
9.2 0.001 mg/f0l5t| ESZHZE |39.22l22=2olMEUEZD.004 mg/L0|5H EHE
10.Al ot 0.01 mg/00I5t =ZHZE  |40.ZZ0lME O = 0.1 mg/40l3}t  0.030
11.38 0.05 mg/f0l8l] EHZE [41.REUTVFHL 4.0 mg/00|3t  0.62
12, 2L ot & A 0.5 mg/f0l5t =HE |42.8E& 300 mg/£0] 3} 54
13 2 MM 10 mg/f0I3t 1.2 GO AgTIEEa 10 mp/f0l3t 2.2
14822 1.0 mg/00l5t =AE  |44.YM 2% M=
15.7tE8 0.005 mg/L0|5t| E#HZE |45.5¢ Fo| 8=
16.H &= 0.005 mg/f0l5t| =#HZ= |46.72I(Cu) 1 mg/g0lst =HE
17.CtOl o} X| = 0.02 mg/fo0l5t =HE |47.ME 5E0|5t =EHE
18.m}2lE| 2 0.06 mg/f0l5t| 2@z |WNEUEAEES | g 5 /0015t 2HE
19.HUEZE|S 0.04 mg/L0|5t EHE |49.720|2E5E 5.8-8.5 7.4
20.7Hd}& 0.07 mg/f0l8t| =&dZE |50.0A 3 mg/eo0lst =HE
21 . ZE2|Z2H E 0.1 mg/£0I3t  0.020 51.¢ 202 250 mg/40| 5} 14.3
22.222XE 0.08 mg/£0|5t  0.016 52 ZYIRE 500 mg/40| 5t 95
23.1,1,1-E8| 2220l 0.1 mg/£0|5} =4dZ& |53.&E 0.3 mg/f0l5t| EHE
24 Bl ERIZ 220 0.01 mg/f0l5t =HE |54. L2 0.05 mg/L0l5t| =HZE
25 . EZ| 22202l 0.03 mg/40| 5t =dE 55. &t 0.5 mg/L0| 5t 0.04
26.22RC|222HE 0.03 mg/£0|35t  0.004 56. &40 2 200 mg/£0] 5} 12
27.ClERR S22 Et 0.1 mg/40lst E=HZE |57.¥F0l5 0.2 mg/40| 5t 0.02
28.CI222MH Et 0.02 mg/f0l5t| =HE |58.1,4-Clo| 4t 0.05 mg/g0l5t =HZE
29l 0.01 mg/£0[5} =HdZE  |59.ZEYMSI= 0.5 mg/f0l5t =HAE
30.2F4 0.7 mg/40| 5} =4dE 60.E 54 0.01 mg/f0| 5} =2HE
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